TIRAERR

FREh B
A5 s | BEEE =a
JKHE1 7KH2
SHI24FEE | <0001 <0.001
. SM3EE | <0001, <0.001
HRIHL mg/L - 0.01mg/L
SH4EE| <0001 <0.001
SHISEE| <0001 <0.001
SH2EE <0.1 0.1
as7 " SHSEE <0.1 <0.1 A .
P mg Ay Y
SHAEE <0.1 0.1
SHSEE <0.1 0.1
SH2EE <0.1 0.1
SHSEE <0.1 0.1
L me/L BEENELNE
SH4EE <0.1 <0.1
SHSEE <0.1 0.1
SHI2FE#E | <0.005 0.005
" HRIBFE| <0005 0008
0 mg/L 0.01mg/L
SH44EE| <0005 <0.005
SFISHEE | <0005 <0.005
SH2EE <0.01 <0.01
- SHSEE <0.01 <0.01
" AES DL me/l |— - 0.05mg/L
SHAEE <0.01 <0.01
SHSEE <0.01 <0.01
SH2EE 0.001 0.001
SHSEE 0.001 0.001
fit=% mg/L - 0.01mg/L
SHAEE 0.001 0.001
SHSEE| <0.001 0.001
SFI24E | <0.0005 <0.0005
" SHBEE | <0.0005| <0.0005
#ak 2R mg/L 0.0005mg/L
SFI44EE | <0.0005 <0.0005
SFISHEE | <0.0005 <0.0005
SFI24E | <0.0005 <0.0005
SHISEE | <0.0005| <0.0005
FLELKE | mel |— = BHEEhENCE
AN
SFALEE | <0.0005| <0.0005
SFISHEE | <0.0005 <0.0005
SFI24E | <0.0005 <0.0005
RUEILETT=IL THBEE | <0.0005| <0.0005
" (PCB) mg/L BHEhENDE
SFALEE | <0.0005| <0.0005
SFISHEE | <0.0005 <0.0005




TIRAERR

REH =
AERE B | WEFE B
R L8
JKH1 JkH2
RH2EE 0.18 0.14
: THIEE 0.17 017
HAREDL mg/kg-Dry i - _
TH4AEE 0.18 0.14
SHSEE 0.15 0.15
SH2EE 15 15
= SHBEE <15 15
X fit= mg/kg-Dry i = 15me/ke-Dry
DHAEE 15 5
SHSEE <15 15
SH2EE 3 3
o me/Rembry 125mg/kg-Dry
SHAEE 3 3
SHSEE 5 4




